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26. Power consumption in moving iron

27.

28.

29.

30.

instruments are

{a) Higher

{b) Lower

(¢} Lossless

(d) None of the above

A Lassajous pattern on the oscilloscope
is stationary and has 6 vertical maximum
values and 5 horizontal maximum values. The
frequency of horizontal input is 1500 Hz. The
frequency of vertical input is

(a) 1800 Hz % n j-/, 1
(b) 1250 Hz - VG

(c) 45000 Hz /Q " _y{ q
(d) None of the above (('\’f 7

With an external multiplier setting of 20 KQ
an analog voltmeter reads 440 V and with
multiplier setting of 80 KQ it reads 352 V.
Then for a multiplier setting of 40 KQ, the
voltmeter will read

(@) 370 V

(b) 402 V

(c) 406 V

(d) 394V

An indicating instrument is more sensitive
if its torque to weight ratio is

(a) Much larger than unity

(b) Of the order of unity

(c) Much less than unity

(d) All of the above

Two wattmeter method can be used to
measure the total power delivered to

(a) Star connected load only
(b) Delta connected load only
(c) Star or Delta connected load -

MW qerer B wlE B @

e 33 9

SRt 1500 Ha R, T T ST 1 i
(a) 1800 Hz

(b) 1250 Hz

(¢} 45000 Hz

WS () i of & o T

28, aW afin 20 KQ& §19 UF
WT:MOV yaa & 3l 80 KQ T4
& ury g 352 V wgan & | TR AT
¥ frd Jeehiet 78 1@
() 370 V
(b) 402 V
(c) 406 V

(d) 394V

T 3EHET T TRy FagAe B Al
STl MR 1 S BN

(2) T B 9EH AT

(b) T % T A

(c) TF ¥ WgT HW

(d) ST |ft

A

A

29,

30. @ Frfie faft gra foer & et e w1 i e

EIR:C

(a) FIT R I MR I
(b) Fad 2T & YR H
(c) RN I $ea1 & W

(d) Star connected with neutral load

(djmwﬁ?@ﬂm
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d An overhead line with surge impedance
400 ohm is terminated through a cable of
impedance Z . A SUrge travelling over the
line does NOT suffer any reflection at the
junction. The value of Z 18
() 40 ohims
(b) 500 ohms
() 450 ohms
(d) None of these

In the HVDC system, the ac harmonics
which get effectively eliminated with
12-pulse bridge converters are

(a) Triplen harmonics

(b) Triplen and 5th harmonics

(c) Triplen, sth and 78 harmonics ¢

(d) 5t and 7th harmonics

_ The capacitances of a 3-core belted
cable are measured and found to be 8s
(i) between 3-cores bunched together and
the sheath is 15 uF (ii) between a conductor
and the other two connected together (0
the sheath is 10 pF. Then capacitance to

neutral value in uF is
(a) 12.5 (b) 12.0
(c) 9.5 (d) 8.5

The increment
the two generators delivering

of 200 MW are as follows : ‘
_f’?‘b’:’ fw

a total load

dF,

df _50+0.01P

dp, 4 19 coftoct {17210

dF, 0+ =-0

2 =16+002R, t =00l fI 10
2 ~of =z owif)~ 29

What should be the values of P, and P,
for economic operation ?
4= () - (

(a) P, = P, = 100 MW _
W) 4 )
(b) P, = 80 MW, P, = 120 MW
(c) P, = 200 MW, P3 =
2
(@/P, = 120 MW, P, = 80 MW l@f

al cost characteristics of

o
> Y s

gNGT - 97
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} w) 7z, ufwuy 7@ 0% e @ g T
e & A a3 arey sreaed Ao @ wfn v
qerada 7 g ¥ 1 Z, W ur B

(a) 40 chms

(b) 500 ohms

(c) 450 ohm$

(d) ¥ A L

qyDC 44 4 0.4 eeiifaa A (2R e
m&awmmqmamt.%!

(a) feuer gt

(b) fgea @ gth grAifA#H
() R, 5t 7 T

(d) 5t 7 7th ErHI

: Ms-ﬂtiﬁ.!m%m&?ﬂﬁﬂmm

ﬁﬁﬁmg@w
s AR

3 el W uF # 8
(a) 12.5 (b) 12.0
(c) 9.5 (d) 8.5

ke 2oomwﬁtyqﬁix%%,m

;ﬁizawmw&ramﬁnfaﬁaﬂ%:

dF, _50+0.01P,

dF.
2-1.6+0.02F,

|Q'Lf\.EP_2

i GTer % R Py @ Py AR
& ?

(a) P, = P, = 100 MW

(b) P, = 80 MW, P, = 120 MW

() P, = 200 MW, P, = 0 MW

(d) P, = 120 MW, P, = 80 MW
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36.

37.

38.

39.

The insulation of the modern EHV lines 18
designed based on

(a) Corona

(b) Radio interference

(c) The switching voltage .

(d) The lightning voltage

The coefficient of reflection of voltage for

short circuited line is
(&) - 1.0

(b) 1.0 ,

(c) 0.0

(d) None of the above

For line to line fault on an unloaded

generator, then

(a) Ia;=1a,

(b) Ia;=—lay

(c) la, +1a, = Iag

(d) None of the above

The following figure shows 2€r0 sequence

equivalent circuits of

(__/Wl'"\—l_____—oQ
Z
—0

Ref.Bus

PO—
O*

(a) A-ABank s
(b) Y - A Bank
(c) Y- Y Bank -

(@ & % Bank

The maximuin demand of a consumer 8

2 kW and the corresponding daily energy
n is 30 units. What is the

consumptio

corresponding load factor ?

(a) 25% (b) 50% 9%
(c) 62.5% (d) 75%

I e

35.

36.

37.

38.

39.

ENGT - G

L ek gy @ it 5 05 ¥ v
pren B ‘
(@) Al i
(b) 1 wfam‘ﬂ
(c feafar e |
(d) srFrTa fareger 97O
W-gmwaﬁmmqmagm‘ﬂm’
(a) - 1.0

(b) 1.0
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aty.  The vollsge regulation of 5 skt 40 T UPWT TS W AR s T
pransmniseton bne will be marisms S - & Lo
Whin the value of tan oy, lor lagging j o e e % T w05
power lscion iy (= &=
(m) Uity [
) Zero | o>
® E
- m —
X,
o =
. g =
41, The - 180° phase line of Bode diagram is | 41 -139?5%&.%%#3#@'
equal to i@ Senk sow
(a) Positive imaginary axis in Nyguist y
plot (o) AP T = T =2 ¥
(b) Negative imaginary axis in Nyquist “w“fiﬁwﬁ
plot = i
= T e = <
(¢) Positive real axis in Nyquist plot - () TR % 4
(d) Negative real axis in Nyguist plot (@) T =2 € W S e
12 0 P2’ Rl
o r x| |
42. Let X [o 1]X+[1]U 42, IMX 1) ]
U = [b, 0] X U=ie 0] X 6 b o= 3o e @ =
Where b is an unknown constant. This L
system is (a}bﬁwrm"‘tﬁaﬁm
(a) Observable for all values of b -
(b) Unobservable for all values of b - (b) b & T WH & o ISR
(c) Observable for all non-zero values of b () b® T ¥ =1 3 B swsaes
(d) Unobservable for all non-zero values
of b @ b ¥ T 3R T § B oaeEe
43. Consider solar radiation 0f200J/m2and | 43. ¥ & 9 & vow @ W+ == &k W=
per unit time during daylight, find the 2000/m2t  afsRer s @ wom &
area of Photo Voltaic (PV) cells needed to i ige v o= =2 & B e
generate enough electric power to run (i) & N VS t‘m e I
desktop computer of 400 W (ii) an electric d ) s
R W 0 W ni Rge B
geyser of 1 kW and (iii) a toaster of 500 W. % - WSO W I RN
Assume the efficiency of PV to be 25%. 1 kW i) W WR 300 W, WR e Qe
2 @ g 250k
(a) 38 m (b) 8 m? a) 38 m? "
{ m i & m
2 2 .

D

AT e
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in ¢ to
44, Sheaths are used in cables

435.

46.

47,

48.

49.

i th
(a) Provide mechanical streng
(b) Provide proper insulation |
(c) Prevent ingress of moisture

{d) None of the above

s that
A negative area control error mean

i ou
(a) The area is not generatin, o ou%ll:
power to send the desire
out of the area

i wer to
rea is generating more po %
(b) zggdathe degircd amount out of th
area

i eet
() The area is generating power to m ¢
its own requirement

(d) None of the above

In a three-phase system the cgrrcnt in the
return path through neutral is

(@) 31a, . (b) 31Ia,
(c) 3 1a, (d) None of the above

At the swing bus specified are
(@ P, Q
(b) |V],5 -
(c) P, V

(d) None of the above

The efficiency of a transmission line
(@) Increases with decrease in load p.f
(b) Is independent of load p.f.

(c) Increases with increase in load f)f

(d) Decreases With increase i load p f

Feedback control system
(a) Band pass filter

(b) High Pass filter

(c) Low pass filter

(d) Band stop fijter

is basica_l]y

45.

46.

7.

48.

49,

ENGT .
3 <fes o e @ @ !

%W@mﬁﬁ%@

a) _

:byﬁrﬁﬂ'”mmﬁ

()t T & »

() 3w 8 &

: &1 areqd #
ﬁ::ﬁ;ﬁ-@mﬁammmm
(a)aaimnmﬁwmﬁ
(b) & et R Tefe T R N gy

Fifer T A S S Ew
() 81 3Rt AT 3 TR I T 4
(d) ot & @ i T

PBi-sei-somedt 4 9T =ge % T A oy ¢
_&;11.“

(a) 3 Ia,
(c) 3 1a,

(b) 31.’:1l
(d) auﬁaaﬁaaergm

& 7w w fafds g 2
(a) P, Q

(b) |V], 3

(c) P,V

() 3T & F Y 7y

qﬁwmiﬁaﬁm

(alm%sﬁmmmm%
[b)’mﬁ:sﬁammﬁﬁzqﬁm%
(CJW%QT%M@WW%
(d)‘TK%Qﬁgmmmw%
(@) ¥ g Ry

(blﬁﬁmﬁm
(c) = ug

ld)ﬁgmq%
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8 . € al W, =
E o B
Baln cross also oceur at
K should be

e o1
_ IOSSOV&{ lukr:s [’[uc

(a) 10
| (b) 8

) 18
’ () 1

The determinant of

shown below is graph A for the spg

(&) 1 - be - fg - befg - cigj

(b) 1 - bc - fg - cigj + befg
() 1 + be + fg + cigj — befg
(d) 1 + be + fg + befg - cigj

A second order control system is defined

52.
by the following differential equation.

2
4250 . g 4t | 1 6c(t) =16r(t)
dt dt

The damping ratio and natural frequency

for this system are respectively

y./SO and 4 rad/sec

(b) 0.25 and 4 rad/sec

(c) 0.25 and 2 rad/sec

(d) 0.50 and 2 rad/sec

D g

50.

Sl.

52.

ENGT - 07
U o=
W@ - sy gy

T(S) = K e
(S + 1).1 N weena € g

“’C*‘JE‘"'WMtlHﬁQW(WIﬂ
m\ﬂuJC‘Ilﬁﬁ,ﬁ?KﬁTmm‘m

{a) 10 (b) 8

(c) 18 (d) 1

I foar 3 tafan @ fezdicie 4, f= e
el a6 % form @m

(a) 1.~be - fg - befg - cig
(b) 1 -bc—1ig-cig+ befg
()1 +bc+ig+ cigj - belg
(d) 1 +bc+ig+ befg — cigj

wﬁ?ﬂvmm@am%m&ﬂ
WW%WWMW%&

d2e(t) o dcft)
490 g =" 4 16¢c(t) = 161(t
=+ + 16¢(t) = 16r(t)

i U@ ad G g, v foreew & fee

fyefafea 2
(a) 0.50 @41 4 rad/sec

(b) 0.25 @1 4 rad/sec
(c) 0.25 @ 2 rad/sec

(d) 0.50 @ 2 rad/sec
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Gisgy. K
BB + )

() - 2.5
() ~ 2.0

BY Bolnt i the Faot Lol ploy
sinsfery funation

s

h ~1.0
) -08

84, Consider the logp

transfer fuy n
GS) Hys) . K8+ 6) W‘JQ

(% +3) (8 4 5) V"{, 5
I roet locys dlagram the centfoid js

fr/’ located gt n
_ m () - 4 (bl/l/
o (€) -~ 1 (d) -3

For what value of K is the time constant

of the system of figure given below is less

than 0.2 sec ? DAL
-

T

7

fa) K>3
(b) K> 5§

(d)K>9

56, The transfer func

of the systemn
X = Ax v by

y = Cx#du

A G(B) = (S - A b

has no pole-zero cancellation. The system
ww controllable and observable

b

T
1

" et s " 2 i K & -
O I W () - W fay BV
i &(ﬂ Jii H‘W . !

o etz i 9w mft-\p

53

() - 2.5
€ ~20

()
(d)

1.0
0.5

64 o4 gra hae Deafedigy #

K(‘) t f")]
[b + 3) (8« ";
w2-oliwu graum A aagvag feud d

G(B) H(S) -

(&) - 4 9

(c) - 1@

fian # zfote st o § K @ fd Wi By wae |
fauare 2 dwve 8 wm oM 7

o gl

(@) K >3
(b)K>5
(c) K>7
d K>9

(b) -2 w
(d) <8

58,

2641

56. x = Ax+bu
y=Cx +du

T FE T GIS) = C(S1 - APt b -

‘b’ is cbservable but “antfcllablg £ e

{¢) 1s controllable but unobum*
- {d} none of the above &



https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

-

4

- -
o -
i

58.

99.

60.

For the signal flow dia
figure, the tranam
X.2 18

Bram shown i
. " in
tance

between X, and

rst rsu rsu
a L efh
@ ien e ® iRt
efh rsu reu
c ) - efh
() l-ru l-eh (d) 1‘3t+1_fg

In a control system, output rate

feedback is used to
(a) Limit the speed of motor

"
A

(b) Limit the acceleration of the mu%’or"': ;
(c) Reduce the damping of the system

(d) Increase the gain margin

The sparking at the brushes of a dc

generator is due to

"/

(a) Reactance voltage
(b) Armature reaction

MY
() Light load }F®

(d) High resistance of the brushes

The purpose of using oil in the transformer
18
(a) Cooling

{b) Insulatior_;.;:;;?‘ |

ENGT - 07

57 A4 felt md forere ool wmm X, @ X, % dra

gty i

L R

l1-eh 1-st (b) 1-fg 1-st
efh rsu ‘2 rsu el

C + - sl

O n e @ T T

it wvel fwem 3, snaeye 1 ke W v
forn e 2

(a) iz 1 whe = difia w6 8

(b) Trer 1w F wfva w0 d
|c]ﬁﬂiﬁﬁﬁfiﬂﬁmmﬁiﬁﬁ

(d) 7wk ) agE % fog

58.

59. uw €. It # wa w e g

(a) wferEmE AEA & F

(b) e sfafsEa < T

(c) U SIS S H
(d]vsﬁ%aﬁmuﬁﬁu%m

60. Wﬁ%ﬁﬂﬂ&\ﬂﬂmt

(o) Troe 83
(b) ik
O RIGSE @ e ¥

(d) FE ¥

(¢} Cooling ﬁ!;ld insulation /~
(d) Lubrication

ks
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6 ‘ :
1. residual magnetism is NOT present in

ad.c. generator the induced emf at zero
Speed

{a) 10% of rated voltage
(b) 50% of rated voltage
(c) Zero

(d) Same as the rated voltage

62,

A single phase transformer on full load has

an {mpedarice drop of 20 V and resistance
drop of 10 V. The value of power factor at
zero voltage regulatlon would be

(a) 0.86 lagging- @w &"““\
AB) 0.86 leadin

{c) 0.90 leading
(d) 0.707 legginig 2G4
» \/”

orque and maximum torque of
e e e e

T - \
e ¥
o) L dfiz Me- W19
o o
o o

64. The power factor of a synchronous motor

iky,mpmves. with increase in excitation
and may even become leading at high
excitation

(b) Decreases with decrease in excitation
(c) Is independent of its excitation

(d) Increases with loading for a given

excitation

61.

62.

63.

64.

-12-

EWARLE A «%

a2 o6 B H. ﬁzxﬂagj"m”‘*’w
g e R . B s
T ¥

g ios

(b) Ruifa drers 1 50 wfowrd

(d) Pruffra dre2 % T
. 3
memqﬁuﬂfﬁﬂw?‘““miﬁﬁm'

yqzov%ﬂwqfanugm 10V%|’Eﬂﬁa ]
Wmmﬂiﬁﬂ’mm A

(c) 0.90 3w

(d) 0.707 TZ=TH

v 3-%w guedwA Hiel # wfdn mqy%m
iftrepem st s wfafdd &m

@) :ﬂ‘ﬂl

15 4
r

1 1
© W5

(b)

(@) — 3

Th geashifee Aiet &1 widd i

(a)mm%mmammm
 ameft off & s ¢

(b) GéTH U2 | 9T A 2 |
c) BT 1 HrE ywrE gz
(d) e FfTea adom o g B
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1 m &5 k’%) - o —

L °S The impe. g
' Pedance : E .
11000 v/ 400 vt:::n “f—‘lﬂf'slul-, T - NGT - 07
1O KVA ig .02 1‘:3?\:3;‘!11& of a capacity | 63, % ¥swr/wn, | 1600 V400 ¥ 160 Wk
im -~ ALt AL T ; ,
nPedance per phase r'eft-) u The ahmic honfis & shera (0.0 + j0.07) wfy swrg R |
e iy erred 1o primary N w5z ) aw ufy s i whvame R

@} {0.02 + jo.o7 :
© o= T IUAT) ohun ~
(®) {058 + j1.925) ot ]l (8) (0.02 + j0.07) 3im

(c) lj-‘ * 1147) ohm NNo I 5 <11, 928 S
{)(72.6 j254.1 ohm \ (©) (42 + j147) 3l
(d) (72.6 + j254.1) 30w

-—

66. An electric motor w

power will have torqu
in the form of a

ith constant
-output | 66, fen fufa wfFa ferelh forqa e
©-Speed characteristics R g;‘v'ﬂ"’l HIU &1

(@) Straight line thro igi

Streight ugh origin () & fag & @ diefl T
U] Straight line parallel to the speed axi (b) E H"«’? & G @l
(€} Circle about the origin N ‘
(d) Rectangular hyperbola ((3 m jﬁ?‘:‘lﬂ?ﬂ

67. In the given parallel tu i AL S T W T
ned ¢ '
parallel resonance the impedan::r;n;;ttl:: R i a B

circuit is wiyama &1 9 8
o .
g == R = R
L L
o—— o—
(@) L/CR (b) LC/R (a) L/CR (b) LC/R
R R
5 o= {d) LCR © 5 (d) LCR
68. Super position th?m is valid only for | 68. g MR 3 T AN ?
(a) Linear circuit (&) e wiche %_SI.
(b) Non-linear circuits (b) Tri-tfgs @i%e g
(c) Both (a) and (b) (¢) (a) 3 (b) A &G
(d) Neither (a) nor (b) @ ARN (@A (b) TG
69. Ifan R-C driving point imfpedlancedﬁmction, 69. aR T R-C IEfEM wrge $hew wer ¥ z(s)
h al numb e and zeros at
Eﬁimﬁfﬁ&ni therfr Ty A Td T ETA 9 9 W 8, 9@
() 2(0) < 2(=) (b) 2(0) 2z(=) (a) z(0) S zl=) (b) z(0) 2 z(=)
(c) 2(0) < z(=) (d) z(0) > z(e) (c) 2(0) < z(=) (d) 2(0) > z{=)
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i
I the etreyun shown below, what will be the

valie of current through resistance ® 7

G
P TRECRIE———

um?) s

e et i s,

4
XD

&0

3 3
) S A () A
(©) 0 A () %A

71. A Hartley oscillator is used for generating

(@) Very low frequency oscillations
(b} Radio frequency oacillations .~
{¢) Microwave oscillations

(d) Audio frequency oscillations

72. For the most accurate model the diode
forward current is
(@) I = Ig (e9Vp/"RT 1) . !
(b) Ipy = Ig (1 - e9Vp/nRT)
() Ip = lg (c™Vo/nRT _ 1)
(d) 1 = g (1 - eaVp/nKT)

" .

73 For the input-output characteristic of
amplifier shown in fig. below the voltage

\ o gain is

72. ﬁmgmlﬁs"ﬁmwa
(a) Ip = lg(€AVo/ "R - 1) 3
(b) Ig= 1g (1 - e¥e/m5T)
@)1 = 1g (e Vo/mFT - 1y
(d) 1p = Ig (1 - e WVo/akT)

73, = fam witw & wands & g - ”W
ﬁ m—-' h Lol =] ﬁ"" "._':7_-' [ﬁ-:..:.:ﬂ
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74. ENGT -~ 07

In a erystal os

: Cillator "
thickness of t. If vay e, L yStal has | 7 i _
happens to me’fﬁ:ﬁffscucif by 1%, what | ?Iﬁm Yereh & e ) sherd (R af s
{a] fwll] in(‘t'ﬂase b\, i ¥ ? 218 t & 1% 1 WA a, il '.“'Ii{f‘ﬂ o m ?
(b) £ will decrease by 25 () 3gf () 2% @l
(©) £ will inc g (b) sgfa (f) 2% a2
will increase by 1% N
(d) [ will decrease by 1% (€) AR () 1% Qo
- : (d) dmafw (f) 1% =
. For the circuit st :
IVS 10Wn in figure below the | 75. #Q fd m wfwu # Ay = Yo &
value of Ay = -2 s A
i
lﬁ; 400 kQ
0
V, 0———w\ \kﬂ V, 0——W e
40 kQ —OV 40 kO V,
AN + o +
R R
1 |
(@) -10 ~ (b) 10 (@) -10 (b) 10
(c) -11 (d) 11 (c) -11 (d 11
76. Foran electric field E = Egsinat, whatis the | 76. T frgfia & E = Egsinat 2, Wh HEEA
phase difference between the conduction urn & feasdiz um B fRa E AR A?
current and displacement current ? § i A
(@ 0° (b) 45° AL (a) (b) o
(c) 90° (d) 180° (c) 90° (d) 180
7 Match List - 1 anddiiP e igblect thee| ¥ T - 1 7o Tl - 11 =1 gifera e T F2
correct answer using the codes. £ FErEdal 8 g8 IW gﬁq \
List - I List - II - 1 TR - I
inui YO H = O > 2 @D
A. Continu adatal 4 A wRAE wiewm 1. VxH=J+—
equation .
oD 2, 9=
B. Ampere’s La = £ B. b B e “'a_t'
-
- B frgwtEie ) oB
C. Displacement E = _oB C. Rl 3. VxE= e
ot
current 5 P
D. % w1 fram 4, 5 e
D. Faraday’s La ij -_?& Vxd Bt
Codes : He
A B CD A B CD
@4 3 2 .4 @4 3 2 1
ﬁ*:123 PATS b4 1 2 3
2.3, S0F! )})’/ ©2 3 4 1
D ﬂ} of 25 b
é~ \ > o \ -15-
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s 4 ‘;#
= ¥ v

78. List - [I gives Mathemats 3
tical Expressions s
fﬂl’the\fanableag;vtnmusz—p; Match ﬁﬁi'ﬁg‘@‘.‘mqﬁ‘”“w‘%
List - | with List - 1l and select the correct ffya 7 w8 TR H [ %
answer using the codes. 1
List - 1 List - I
<= vies
A. Intrinsic impedance 1. )/J,E "'
N
B. Velocity of wave / 2. Jule g, @01 T8 &1 3
propagation ’
C. Skin depth 3 )/prm c. fe T4
o -
D. Attenuation constant 4. fJp @ D. AT fews
5. Jops
Codes : L 74
A B CD ABCD
@1 2 3 4 LY 3 ¢
w2 1 4 S 2 1 45
42 1 3 5 ©2 1(% 5
@1 2 5 3 @1 3VS 3
79. 'mcratioofchargcstomdbytmmetalﬁc 79. amuﬁﬁmﬁﬂwmﬂm u
lpheresraiscdwtheumcpotenﬁalisﬁ. 6?&8@%“3“3!7@%@&5@*
ﬁtmdoof:}wsm'faoearwdd:esptmis '
& 37w ¢ ]
(a) 6/ % .. fa) 6
(b) %. o &3, (b) %
c} 36 o) > I - (c) 36 -',
v 3
1 /gM _}—_ 1
@ 7 p ) J6
80. In cylindrical co-ordinates 80. mmﬁ -)-'- E—(pﬁ}«;— }5 gj_yi = D'g
. { pdp\ op) p 0%
p op t':'pJ p? a” (a) TS
(a) Laplace’s equatiOn/ (b) TEH 1 FHE
(b) Poisson’s equation (c) T H T
(c) Euler’s equation
(d) 39 & § FE T#

{(d) None of the above
-16-

-
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[ S
%
b4 |

ENGT - 07
Which aof {he follawine :
‘ HOWING instruamen(s are | gy Prrferdiags v i : T
fapilile of BErVINg ag transfer instruments 7 @ = mﬁ gl s
1 Ay gad 1
(i) Mtwmg [ron T i
(b) Moving Caf R
\ - (b) &fers gugsh
€) Electro d - ’ - :
A 0 dynamometen~ (c) ¥¥1421 graandier
() None of the above (d) 390am § | i 48
82, For neasurement of high resistance by | B2 w@m ) #if1 fafu & wfus wfade =1 W i
lﬂfiﬁ-iumg.—ﬂ]lclhmi which graph be fa 4 4 9w ure sfus 71 Thoms 27 s
used for more accurate results ? g & 7
t - PTG v
v=Ve @v V
@Vv Vv L
A L
y O*>
t —>
2 S
o o3, (b) log, -
logeV ==
: > ol —_>
«— t —| % t ‘-—)
t —>
v
v
©) ()
t— L% 2
T \Y
v @ | v
d -
(ll v «— t —i i
—>
et ) o] :
t —%

-17-

e SR YT
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83,

T
he seale of moving coil ingtry
, ments
@) Linear _-

() Non-linear
() Not uniform

(d) None of the above

84,
a third order equation are
AT LS
$ 22 UL R
s? 4 4
This means there are

(a) Two roots at s = +j and one root is
right half of s-plane

{b) Two roots at s = +j2 and one root is
left half of s-plane

_Ac) Two roots at s = 1j2 and one root is
right half of the s-plane

(d) Two roots at s = j and one root is
left half of s-plane

85. The open-loop transfer function of

unity feed-back control system is given by

K(S+2)

GO = sT5-7)

characteristic of the open-loop and closed-

loop configurations of the system are

respectively
(a) Stable and stable
(b) Unstable and stable
(c) Stable and unstable
(d) Unstable and unstable
D

The first two-row of Routh’s tabulation of

for K > 6, the stability

are

a

85.

-18-

83, wfer gef) aawor if s @ B

84,

ENGT =

() Uegew

(b) M -tuw

(¢) M-y

(dl) Iereer 3 @ wrg el

qefta sy e 6 T3 2ue 6 sum g "ff*’m¥
frefafaa &

g3 2 2
82 4 4

waw! aresd Prerferfaa &
(8) AT s =+ TA T T GHM 5.7 w

(b) Q T s = +j2 T AU Th ¥ TN 8- W i

(c) AT s = +2 T w1 T & <o 8 @ W

(d) Q€ 5 = +j T AW T & TS &P |

e Ereds S RRH w SArFA-E TR
Gy Fraferiiee 2

|
4

.o a i
6" FanE-n e K 6%, :

e, STA- § FS-T H F
m 3

T

5 SHPE

]
(e) ot e fm 3
(b) R T fRm %
(c) o T AR
() SRR 7o HfRR
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g6. A second Ordes

o
Qo

89

transfer funaﬁdn I o 11 e TR

16 ' iy
__..—-——"—_" ;,f'
57 - 45+16 vy - [
What is the time mmm i
2 por s :
a) =8
"

"

i feedback control system to

5| Increase the effective damp Ak
system =y

in) Decrease the effective da

system

() Improve the stable state response of r
system

(d) None of the above

Consider the characteristic p '
feedback system q(s) = g4 -‘i

“ffect of back emfina 89.
dc servometer is
b e 77
a» B ot s -I9
(a) To increase effective motor friction

thereby reducing motor time constant

(b) To increase effective motor friction
thereby increasing motor time
constant

c) To increase motor inertia, by
increasing motor time constat

[d) To increase motor inertia, there
reducing motor time constﬁt

-19-

e drm soreh # gy 3 O @R

wrar 3

(a) woet v B WA G
(b) TR S 1 A ¥
(e} e e o 0 o 7 2

(d) 390w & 3w T

(a)’Kw%gmshﬁmir-ﬂ

(b) K > 0 #g Svmedt e gl

() K = 8 &g somre sieaes R Bt
(d) o0 & & = ot 7@ T R

38, 3;}-3'* 33+,2+3+Ka2nﬁ3ﬁﬁmaﬂﬂ

s Py ., wenie ¥ g Rige T

<% 1 YW B 2

(a) ST Tz T B WG H R weae

Hrex g Prais o2 ww §
- (b;mwmﬁmamm
A w Fredis g I/ &

(c) iex w1 gew wew F R
t

wﬁmmnm

oy

t“
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90. A linear time invariant system Is
described by state variable model

x| [-1 0][%] [0
, 1= , + u
%) L0 2flx;] L1

ot 2]

(a) The system is uncontrollable and
completely observable

(b) The system is completely controllabl€
and observalbe

{c) The system is completely controllable
and unobservable

{d) The system is uncontrollable and
unobservable

91. The most commonly used input signal in
control system is

(a) Step function

(b) Ramp function

(c) Accelerating function
(d) All of the above~

92. When a two winding transformer is
connected as an auto transformer its

efficiency at full load
(a) Decreases

{b) Increases v

(c) Remains same

(d) None of the above

93. During blocked rotor test on an induction | 93. 1 e Hay ey whgw & wa geaa: wfF
motor, the power is drawn mainly for Hreha At B
{a) Core loss (a) i 3@
(b) Copper loss (b) F1TT 71F #q
(c) Windage and frictionloss (c) fa2gw R wdw 7l %@
(d) Both (a) and (b) (d) (2) 3 (b) A1 g
D -20-

G

g0, i e wam Al 7 F
A

x| [~ 0]["‘}+[0]u

o allsll

yit) =1 2][2]

o B
(a]mﬁﬁzﬁiwaw
(o)t @ Fraferm S HETE
(d) #FafAm sh 7T

91, wgier foreen i s el I A TN A 4
gz feraa wren 2
(a) 724 G
(b) 5 FETT
(c) 7@t HFIH
(d) Foras adt

92. & % 21-anfen whonfaa @1 e gfonfis £ 0
aw wafaa f B, @ gah gman 9o
o g
(a) ®H
(b) =T
(c) wufrafda
(d) 3w # § = T
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95.

96.

97.

98.

A 6-pole lap-connected e o

480 conductors aa.d
resistance is 0.06 GM. ':
are reconnected to form wae

(a) 0.01 Q
(c) 0.36 Q

(a) Induction Motor
(b) DC Machine

(c) A synchronous machine
(d) All of the above,

During hunting of synchrenous motor

(a) Negative phase sequence currents are
generated

'b) Damper bar develops torque

{c) Harmonics are developed in the
“ armature circuit

(d) Field excitation increases

The DC Motor, which can provide zero

speed regulation at full load without any
controller is

la] Series motor
bl Shunt motor =

fc) Cumulative compound

d) Differential compound

o4,

95.

96.

97.

98.

-

T TR v s e e
T e @ goen § d R

(@) ¥ W 3 s= R =

(b) By Wz 3k 3= ol =

fc) ¥ wre i W R W

(d) /a e s R =

T 6-9i A9-Faes 6.0 IRA T 480w
? T andiR viey = wRdd 0.06 ohm R 1 7R
e B A5 Tnien o [ Y T W
9 srchafia vt 9, o 36 g § swF e
=1 wftrdy =0 gm 7

(a) 0.01 Q (b) 0.08 Q
(c) 0.36 Q (d) 0.54 Q

R 7 3R % gdr 8 & d9 A oy R
R FTen v § g ovit Pefafes ¥ Rm

(a) @ HiR |

(b) .. weh= o

(c) deaiiers weiA o

(d) SR wft
st fa i s N am o

(a) U FEl R G IR T R
(b) T W el Iew e R

(c) st urt # geiiFee e W
(d) e T W R

A, T B o wmow e e
¥ ¥z U R e d (e f
XY Pa-w 7
(a) Hoft WX

(b) ¥ WX

(c) =t Dftvs
(d) i dif
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&
»
.. -
L

A~ Y, ol

BNGY
o o fap ferw B R man g “'31—”: .
b |

29 The t ;
whbrid pay -
nrlwm-klLI\E::;:‘?:\EE:\I?;? rtatmagert| 02
w1,
I, “—@-— Iy
r—— |
R A" e B ;
v, ' R, Vi
@ aR,
(Ry + Ry)
(b) (1- u}R;
R, + Ry
(© 1- u)Ra
R; +Ry
R,
(d) __3_J
(R, +Rj)
100. Fourier transform and Laplace transform 100. HIRER ofte
are related through (&) E 313!%3
(a) Time ijomain
ec \/ (b) 3]1?{% 33!_:1%3
(b) Frequency domain . P
(c) Both time and frequency domains R e
(d) None of these (d) w8 {7
101. Find Norton equivalent current source at 101. fy= afad § X-y ehilFa T A q
terminal X-Y in fig. below. =1 o= 8|
20Q g 100 | 200Q 100
1 ! x L
- — 18V sov—.\:- TY ":‘
Ve s |
(a)l-q=4mA,RN‘=59 Ad\/\g (a)IN=4mA,RN=SQ
(] Iy = 1 A, Ry =358 257 B-1aRy=350
4 -
) Iy=25A Ry=60 FRA © Iy=25A Ry=60Q
| (dig=33ARy-6670 \4“’1 (d) Iy=3.3A, Ry =6.67Q
D \ 4 22
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.
X
o

() [1 - e~ Sipyqe

5,
(c) [1 - e Yuft - 5)

i) L ~e8=D

\ALL
0O

R
Z ¢
() L e®
O
SRR T R
L g
C —
(d)
O

-23-

L=-1H

@) 1-¢t

®} [1 —e®-Shup - 5)

S [l -eTupr -5

d) 1 -ett-3
103. An R-L-C circuit for’_ the driving point | 103 W W wiee w9 l’Rle +CS
) . I }/RLS | ]j;\§+1‘§'!}
adm1ttanceﬁmct10n§“ : +CSlis % R = R-L-C vhgu @m
1 R s
o f\m O
o . 3 - L (@) R L — C
c‘uu T
—”‘1’; O-

o w {ane
C

x

) -
o —0
G_
R
1
© "
c_
o___(Tﬂ'\ —W—R
" |
c
(d) ]
F
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104. Ap ideal current source has zero
(a) Internal conductancc\/
(b) Internal resistance
(c) Voltage on no-load
(d) Ripple

10S. The drain gate capacitance of a junction
FET is 2 pF. Assuming common source
voltage gain of 20, what is the input
capacitance due to Miller effect ?

(a) 21 pF )

106. Which of the following for the JFETs is
NOT applicable ?

(b) 40 pF

(c) 42 pR/
(d) 10 pF

(a) Depletion Mode (N-Channel)
(b) Depletion Mode (P-Channel)
(c) Enhancement Mode (N-Channel)

(d) None of the above

107. Consider the non-inverting amplifier
circuit of figure given below. The closed
loop voltage gain is

30 k2
A—
2KQ |y S
—MWW— 1vo_— N _OV
- ‘/\]O
(a) 36~ Vi q}%f
(b) - 14 “)’;
15 < - ~\1 ',\[0
(c) ‘\1\
(d) 14 L N\
vor ¥
¥ \)

105.

- 106.

(a) 21 pF
(b) 40 pF
(c) 42 pF
(d) 10 pF

35 aron gagz HAfae # I T

JFETs 7 Pt @ - 518 7 T 7

(a) focfrgm a1z (N-2741)
(b) fesfrem Tz (P-39)
(c) =gz Tz (N-39)
(d) 390 & & #wré 7

Fees 1 §

-

30 kO

AAAA

Yy

o ol

pum

PUSPTESIEAS S T

e et Bt 1 MR AN S

107. 4= fa ® g & TR-7afdn gads = 92 =9

- ':'ié: :

ahaVice
gl ¥

e ~
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If the bias voltage 4
' Junc{ion Increasey

the applied voltage iy
(a) Forward biag voltage

108

(b) Reverse biag Voltage .
(c) Transition voltage
(d) None of the abgye

109. For the circuit shown bejgy the transistor

a = 0.992, the valye of voltage V. _ ;

9V

2.2

9V
(a) 8.51V (b) 4.47 v
(c) 2.16 V (d) 10.23 Vv

110. A plane electromagnetic wave is travelling
in an unbounded, lossless dielectric

having p_= 1 and €, = 4. The time average

_poynting vectar of the wave is 5 W/m3.

The phase velocity Vp (assuming velocity
of light as 3 x 108 m/s) is

(a) 3 x 108 m/s
(b) 2.5 x 108 m/s

() 0.5x 108 m/s

(d) 1.5%x 108 m/s

110.

SR e RN o A T Gv-,q‘

ENGT - 07

108. af2 p-n Jama ot srmn o wamm @a, fawass

8 =) wgn %, J e v Aezw wEeE A
(a) wrad wam G=2a

(b) frad a=w @wew

() = diwea

(d) 3ovam & & wrd <A

- A= 22 2 ooy @ gfeet o = 0.992 dFE
Ve #1 93 &

+9 Vv
4 kO

2.2 k0
9V

(@) 851V (b) 4.47V

(c) 2.16 V (d) 10.23V

T O R o i s, wind
Tegs # wemen A @ R, R o = 1w
=4 | 70 % ag shea @i SRS W/n
2 1% 3, v, Feedt Bt 2 mm f wwm
I 3x 108 m/s ¥

(&) 3% 108 m/s
(b) 2.5 x 108 m/s
(c) 0.5 x 108 m/s

(d) 1.5 x 108 m/s
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¥12.

113.

114.

TT———

(&) 1.59 m

WiEL .
(b) 0.159 m P 7
~4
(€) 0.0159 m L 4"\\ w
@159 m
For a transmission line if E‘—- = B—thcn
which of the following is inct.)rSect({;I

2 —
@) 26 =34
(b) The line is called a distortionless line

(c) If a series of pulses are transmitted
they arrive undistorted

(d) The line is lossless

ENGT - gy

111, 7% e qon @i ar & faga urd A
1=100A%Imam§ﬂ“mh*‘

HE 1 A/m B 7

{a) 1.59 m
(b) 0.159 m
(c) 0.0159 m
(d) 159 m

112, goro avga o afg %=%@vﬁﬁﬂﬁﬁw"m

(@) 2 =BG

(b) = Reord wé Ffi

(c) W wrraw wafE B &, i faen o 22
g

(d) s # #ré wfy & Bt

Check whether the potential function
V = A log P + B in cylindrical co-ordinate
is a solution of Laplace’s equation. A and
B are constants.

(a) Satisfies —
(b) Not satisfies
(c) Can not be concluded

{(d) None of the above

Find the volume charge density that is

associated with the field D = a, ¢/m?.
i S &

v\pafw
(M_?

(a) 1 ¢/m?
(b) 0 ¢c/m3,~
(c) 2/r ¢/m3

113. IR frdyris f fqa weA V=Alog P+ B
+ Sifw =t fip 78 Teg qdeRw w1 wE @ T
T 1| A 3in B a1

(@) Hg HT R

(b) " 7E Hta R

(c) % Wt 78 w71 71 GehaT 2

(d) I A ¥ B T

114. &3 D=a_c/m?% WY HGH H9 v3ed fohen
B ?

(a) 1 c/m?
(b) 0 ¢/m>
(c) 2/r c/m3

(d) r c/m?3

() r c/m?
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116

117

118.

A
- . ] N e
115 i @ fluxmeter, the “’“"U‘Gl’iingt
Orque iy

(a) Produced by wej
Y weight at
moving coil ke

d to the

(b) Produced by spring

(c) Not provided at all
{d) Provided by erp
8sed coil
mechani
sm
Thermistors can be used
! as

(a) Measurement of thermal conductivi
Lvity

(b) Vacuum measurements

(c) Measurement of composition of gases«|

(d) All of the above

The value of capacitor C connected across
swamp resistance (R) of voltmeter i) be

|

(a) €= /R?

|
5

!|1] L_. -

c) C=L°L
(€ /R

(d) Nort of the above

ENGT - 07
l ]
15, Wk wermendter # dizifém s 2

() wfer poweft & o3 72 v gw sew
fewan e

(b) fé%n gro aemm fear man
{c) sem e wtren 2

(c) e -sgveef wafa gro Fe g @

116, it 3ya fem s a2

(a) B BTErEAl HIHH #
(b) it 7 2

(c) et % e WA A
(@) 390 T

117 < i St # v afi (R) %
Ge AT &1 A B &

Which of the following statistical net

can be used for & single sampleG&

(a) Frequency distribution

(b) Uncertainty
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In the shown figure, what is the value of
unknown resistor R ? The voltmeter reads

4v
10 KQ
—w—C)
R 4V T &
Y Vo
~ — ok
(a) 110 KQ (b) 290 KQ
(c) 134 KQ (d) 245 KQ

120. Which of the following instrument is free
from hysteresis and eddy current loss ?

(a) Moving iron instruments

(b) PMMC instruments

(c) Electrostatic instruments~”

(d) Dynamometer type instruments

121. Match List - I with List - II and select
the correct answer using the codes given

below :
List - I List - II
A. Megger 1. Measurement

of loss angle
in a dielectric

B. Spectrum Analyser/ \2. Measurement

of frequency

 Measurement
of insulation
resistance

C. Scherring Bridge

D. Digital Counter Codes 4. Measurement

of harmonics
Codes :
& A BCOD
”"b @1 2 3 4
i ¢
s B
e 2

/4 1

119.

120.

121.

-28-

ENGT - a?

A2 ol 7 ooy & s fedy 1 HH R ?
e Sreedfi &1 A9 4 V E
10 KQ

ww—) i_}._

R 4V b

v 8

=i ¢
(a) 110 KQ (b) 290 KQ ;
(c) 134 KQ (d) 245 KQ

frmfafes § @ -1 7 iy 9 ¥a um
qifEt @ qufeen g &1 8 7

L ™ Y

(a) gftia se 7= | i

(b) T i grahia Frse 4 )

(0 R a1 i

(d) SHATHIHI 215y 4

TR =19 geft - 118 giferm ifvre 7o it

& 919 el A 12 w1 s Fh qE W H T a

Hfe ;
-1 gt -1 !

A. W 1. T gRagd § g

ST T T
B. Wagn el 2. T 1 W
C. fimf foat 3. TgOA Flauy
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£

e
>

_mii“@am- Embal

& Load Sequency control

)
u“

The 30 SCHUCICE Qurrent of & generator
o Eoe © ground Sults $j30 P-u. Then

£

Ze coxrent through the neyt : )
-~ ng
e B2t

sl j 3.0 pu L= 9

gj90pu~”
id jo3pu
Calculate the sag for a span of 200 m if

+he ultimate tensile strength of conductor
is 6000 Kgi Allow a factor of safety of 2.

$u
e} 2.0 [ 2.5m
aximum

}5. A generating station has_ m
demand of 30 MW, load factor 60% and
plant capacity factor of 50%. The reserve
capacity of the plant is

fa) 5 MW

(b) 4 MW -

ic) 6 MW

(d) 10 MW

T ENGT - 07
Nmmmt
Nmm%g
l@%ﬂmh
e} vl S ¥y
& Se-sogf e ¥y

123, 91 8 o wive ) g o R g o
SR} 3.0 pu. R, @ v @z & e ww

o

(@}j3.0 pu
®lj1.0pu
fc) ] 9.0 p.u.
{d) ;0.3 p.u,

124, TR = T 9 iR S R 6000 Kel
3.4 200 % 9w § feaw A @ g
s 2 forn T R

(b) 1.5m
(d 2.5m

(a) 1.0m
(c) 20 m

125. Fedt SR KW W Fitrswad i 3omw.wfl
IS 60% T T S A 50% ® | W

£ frod g 2

(@) 5 MW
(0) 4 MW
(c) 6 MW
(d) 10 MW
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